Advanced Algebra — Ch 5 Review Name __ iiy

1. Solve using any method. (Answers must be exact)

a, 3x" -2Ix+3=0 b. 4x*=-4x-4 C. 64x>-225=0
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2. Solve completely by

a. 12x2 = 26x =10
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12x*-26x ~\0= O
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2(Gx*-12k -§)= 0
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7. The expresswt{ P(\) 2500x ~ ~ 2x” describes the profit of a company that customizes

bulldozers when it customizes x bulldozers a month.” POy = ~2x> Y ASSC 1 O
a. How many bulldozers per month must the company customize to make the
possible profit? Veshex
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b. What is the maximw {}ﬁt‘?
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8. Marnie throws a softball straight up into the air. The height / of the ball, in feet, can be
written as functions of time ¢, in seconds, as /(r) = -161'“'_ +40r+5
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b. How many seconds after the ball was thrown does it reach it’s maximum height?
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¢. What was the height of the ball when it was thrown?

£=0

h(6)= LWLy + YO+ §
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d. How long will it take the ball to hit the ground after it is thrown?
h=0
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9. Georgia would like to enclose a small flowerbed that is next to her house. She has 50 feet of
fencing available to enclose this area. The house already encloses one side of the flowerbed.
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a. Find the dimensions of the enclosed area. Gr e
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b. What is the maximum area that is to be enclosed?
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